PART

LIST

NO. Picture |Specification| Qty

A < Screws @3*1/2" 56

B Screws @4*1" 6

C 5 Shelf Clips 12

D Metal Clip 14 [

E Qi Hinges 6

F 7 Screws @4*3/4" 6 L \ / /

Z
G & Screws 24*5/8" 12 "
w3642
WM3642GDF 1
Unit:inch
1 g 2 » e 3 y 4 . 9} . s
“% E g \\// \/w //
Left Right
Door Face frame Side Panel Side Panel Back board
6 7
14
70 70 3&'5\'\6/ %b
\6\\8‘/ 77//6,, . \5\'\6 e %,, /
4&& P

Top Bottom
Panel Panel Shelf




Assembly instructions

NO. | PICTURE | SIZE QTY| NO. | PICTURE| SIZE QTY
A g Screws @3*1/2" 56 E @?@ Hinges 6
B e Screws @4*1" 6 F d Screws @4*3/4" 6
C & Shelf Clip 12 G rd Screws @4*5/8" 12
D &>  |Metal Clip 14

step 6

page 1 of 1

w3642
WM3642GDFI




	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)
	LLA-LW-说明书 Model (1)

